
  Class – 8th          Assignment 
  

Reasoning :- 

  Ch. 1 Series completion and Inserting choose the correct option from 

given ones that will complete the series. 

(1) 66, 36, 18, ? 

(a) 3    (b) 6    (c) 8   (d) 9 

(2) 2, 2, 5, 13, 28, ? 

(a) 49   (b) 50   (c) 51  (d) 52 

(3) 0,  2, 8, 14, ? 34 

(a) 20   (b)23    (c) 24  (d) 25 

(4) 1, 5, 14, 30, 55, 91, ? 

(a) 130   (b) 140   (c) 150  (d) 160 

(5) 240, ? 120, 40, 10, 2 

(a) 180   (b) 240   (c) 420  (d) 480 

(6)    (a) 61    (b) 41 

   (b) 65    (c) 45 

 

 

 



(7)   (a) 30   (b) 55  

        

  (c) 60   (d) 70 

 

 

 

 

(8)  

 

 

 

 

 (a) 16   (b) 100   (c) 160  (d) 180 

Q.(9-10) Find out the wrong term. 

 (9) 16, 22, 30, 45, 52, 66 

 (a) 30   (b) 45   (c) 52  (d) 66 

 (10) 2,5,10,50,500,5000 

 (a) 5    (b) 10   (c) 50  (d) 5000 

Ch. 2 Analogy and classification. 

 Select the related word/letters/number from the given alternatives. 

Q.1 Kidney : Nephron :: Central Nervous System 

 (a) Cerebrum  (b) Brain   (c) Neurons (d) Spinal cord 

Q.2 4 : 17 :: 7 : ? 

 (a) 48   (b) 50   (c) 51  (d) 49 

Q.3 DFHJ : WUSQ :: HJLN :? 



 (a) RTVX   (b) TWYZ   (c) PRTW  (d) SQOM 

Q.4 Y2 : 4  :: V2 : ? 

 (a) 49   (b) 25   (c) 16  (d) 9 

Q.5 2 : 32  :: 3 :  

 (a) 243   (b) 293   (c) 183  (d) 143 

Q.6 225 : 256 :: 289 : ? 

 (a) 234   (b) 361   (c) 324  (d) 432 

Q.7 F : 216 :: L : ? 

 (a) 1728   (b) 1700   (c) 1600  (d) 1723 

Q.8 Find odd one out. 

 (a) Zebra   (b) Lion   (c) Tiger  (d) Hourse 

Q.9 (a) Ginger   (b) Onion   (c) Beetroot (d) Coriander 

Q.10 (a) 295  (b) 381  (c) 552  (d) 729  (e) 903 

Chapter 2 (Powers) 

Q.1 Express each of the following as a rational number of the form 
࢖

ࢗ
 

 (a) (2-1+3-1)2 (b) (2-1-4-1)2 (c) ൜ቀ
ସ

ଷ
ቁ
ିଵ
െ ቀ

ଵ

ସ
ቁ
ିଵ
ൠ
ିଵ

 

Q.2 (i) Simplify: (2-1 ൈ 5-1)-1 ൊ 4-1 (ii) (4-1+8-1) ൊ ቀ
૛

૜
ቁ
ି૚

 

Q.3 Prove that : 

 
૚

૚ା࢈࢞షࢇାࢉ࢞షࢇ
 + 

૚

૚ାࢇ࢞ష࢈ାࢉ࢞షࢇ
 + 

૚

૚ା࢈࢞షࢇାࢇ࢞షࢉ
=1 

Q.4 If a1/x=b1/y=c1/z, b2 = ac , then find the value of 
ࢠା࢞

૛࢟
 

Q.5 Arrange in descending order of magnitude √૛
૜ , √૜

૟ , √૝
ૢ  

Q.6 Which is greater of the two : 2300 or 3 200? 



Q.7 Write the following numbers in standard form. 

 (i) 0.4579  (ii) 0.000007  (iii) 9573 ൈ 10-4 

Q.8 Simplify : (i) 
ଶହൈ௧షర

ହషయൈଵ଴௑௧షఴ
 (t് 0)  (ii) 

ଷషఱൈଵ଴షఱൈଵଶହ

ହషళ଺షఱ
 

Q.9 Express the following numbers in usual form. 

 (i) 3.02 ൈ10-6  (ii) 4.5 ൈ 104 (iii) 1.001ൈ 109 

Q.10 In a stack, there are 5 books each of thickness 20 mm and 5 paper sheets 

 each of thickness 0.016 mm. What is the total thickness of the stack? 

(N.T.S.E. Based Questions) 

Q.1 The value of 
૛૛૙૙૚ା૛૚ૢૢૢ

૛૛૙૙૙ష૛૚ૢૢૡ
 is 

 (a) 2   (b) 
ଵ଴

ଷ
  (c) 2ଵ଴଴଴ ൅ 1  (d) 10 

Q.2 When simplified (x-1+y-1)-1 is equal to 

 (a) x+y  (b) 
௫௬

௫ା௬
  (c) xy   (d) 

ଵ

௫௬
 

Q.3 The value of [x+x(xx)] when x = 2 is  

 (a) 10  (b) 16  (c) 18   (d) 36 

Q.4 The solution of 33x-5 = 
૚

࢞ૢ
 is 

 (a) 
ହ

ଶ
   (b) 5   (c) 1    (d) 

଻

ଷ
 

Q.5 Given that 2h ൈ 23= 29, Find the value of h. 

 (a) 3   (b) 6   (c) 8    (d) 12 

Q.6 If 
૚૙

૜
 ൈ ૜3 - ࢞x-1 = 81 , then the value of x is  

 (a) 2   (b) 1   (c) 3    (d) 0 

Q.7 The standard form of 15240000 is  

 (a) 1.524 ൈ107 (b) 1.524 ൈ 106  (c) 15.24 ൈ 107  (d) 1.524 ൈ 108 



Q.8 Simplify : 
૝࢘

൫࢘૜࢓൯
૛ 

 (a) 
ଵ

ଶ௠
  (b) 

ସ

௥య௠
   (c) 

ସ௥

௥ఱ௠
   (d) 

ସ

௥య௠మ 

Q.9 Which of the following is not equal to y6? 

 (a) ൫ݕଶ/ଷ൯9  (b) ൫ඥݕ଺൯
ଶ
 (c) ඥݕଵ଼య    (d) (y1/3)12 

Q.10 The value of expression (
૚

૜
)3 ൈ ቀ

ି૛

૞
ቁ2 ൈ  ቀ

ି૜

૛
ቁ3 

 (a) 
ଵ

ହ଴
   (b) 

ିଵ

ହ଴
  (c) 1    (d) 0 

Q.11 Find the value of n from the given equation 

 512 ൊ √૟૛૞૝  = 53n-1 

 (a) 4-1  (b) 42   (c) 4-2   (d) 4 

Q.12 Find the value of 
૛ૠൈ࢚ష૝

૜ష૛ࢄ૚ૡ࢚ࢄషૡ
 (t് ૙) 

 (a) 
ଽ

ଶ
 t4  (b) 

ଶ଻

ଶ
 t-4  (c) 

ଶ଻

ଶ
 t4   (d) 

ଽ

ଶ
 t-4 

Q.13 If 2 = 10m and 3 = 10n , then find the value of 0.15 

 (a) 10n-m+1  (b) 10n+m+1  (c) 10n-m-1   (d) 10-( m-n-1) 

Q.14 Find x, if 8x-2 ൈ ቀ
૚

૛
ቁ4-3x= (0.0625)x 

 (a) 0    (b) 4   (c) 2    (d) 1 

Q.15 The value of 3 √૛
૜  ൈ 7 √૟

૜    5 √૚ૡ
૜  is 

 (a) 545  (b) 500  (c) 630   (d) 400 

Q.16 The value of  
ሺ૞ሻ૙.૛૞ൈሺ૞ሻ૙.૛૞

ሺ૛૞૟ሻ૙.૚૙ൈ	ሺ૛૞૟ሻ૙.૚૞
 is 

 (a) √
ହ

ଶ
  (b) 

ହ

ସ
   (c) 

ଶହ

ଶ
    (d) 

ଶହ

ଵ଺
 

Q.17 By what number should (
ି૜

૛
)-3 be divided so that the quotient is (

૝

૛ૠ
)-2? 



 (a) 4 ൈ ሺଶ
ଽ
ሻ3 (b) 2 ൈ (

ସ

ଶ଻
)3 (c) -4 ൈ (

ଶ

ଷ
ሻ3  (d) -2 ൈ(

ସ

ଶ଻
)3 

Q.18 If 64a+ = 
૚

૛૞૟࢈
 then 3a + 4b equals 

 (a) 2   (b) 4   (c) 8    (d) 0 

Q.19 Find the value of 3 ൈ √૚૛૞
૜

 - 5 ൈ √૟૝
૟  + √૛૞૟૝  + 2 ൈ ቀ

ૡ

૛ૠ
ቁ
ି૚/૜

 

 (a) -12  (b) (12)-1  (c) (12)2   (d) 12 

Q.20 If x = 16 then find the value of the expression  

 
૚ି࢞

࢞
૜
૝శ࢞

૚
૛
 . 
૚/૝࢞૚/૛ା࢞

૚
૛శ૚࢞

 . x1/4 

 (a) 9   (b) 3   (c) 27   (d) 30 
 

 

 

 

 

 

 

 

 

 

English Assignment     Class – 8 

 CHAPTER – I   A FLUTE PLAYER 

Q.1 Who lived on the outskirts of the city of Jaipur? 



 a. Kamla    b. Kamla’s grandfather   

 c. Kamla’s parents  d. Kamla’s grandmother. 

Q.2 Kamla was used to ______. 

 a. Village life  b. City life  c. Both a and b  d. none of these 

Q.3 Where did Kamla’s parents live in? 

 a. Jaipur   b. London  c. Delhi   d. Manchester 

Q.4 What was Kamla’s father? 

 a. A doctor   b. A teacher  c. An Engineer  d. An officer 

Q.5 Who lived with Kamla’s grandmother? 

 a. Kamla    b. Kamla’s grandfather   

 c. Kamla’s parents  d. All of these 

Q.6 Why did Kamla came to India? 

 a. to spend her winter holidays. 

 b. to spend her summer holidays. 

 c. to take care of her grandmother. 

 d. to attend a marriage party. 

Q.7 When did Kamla slip out of the back door to the fields? 

 a. early in the morning.   b. in the evening. 



 c. in the afternoon.   d. None of these. 

Q.8 “ I’m the strongest boy in the village.” Who said these words? 

 a. Kamla’s brother   b. Romi’s brother 

 c. Romi     d. Tommy 

 

Q.9 What was camel doing? 

 a. moving around a well    b. standing in the field 

 c. grazing in the field    d. sleeping 

Q.10 ‘Don’t forget to come next year’ Who said these words to whom? 

 a. Romi said to Kamla    b. Kamla said to Romi 

 c. Grandmother said to Kamla   d. Romi said to grandmother. 

 

  CHAPTER – II THE LAST LEAF 

Q.11 What was Johnsy’s illness? 

 a. She was suffering from pneumonia. 

 b. She was suffering from malaria. 

 c. She was suffering from cholera. 

 d. All the above. 



Q.12 What did think when she saw at the ivy vine? 

Q.13 Who painted a leaf on the wall? 

Q.14 Who took care Johnsy during her illness? 

Q.15 What was the profession of Johnsy and Sue? 

Q.16 How did Behrman die? 

Q.17 What was Behrman’s masterpiece? 

Q.18 What could cure Johnsy, the medicine or her will to live? 

Q.19 Behrman died of _______. 

 a. Cancer  b. Heart attack  c. Pneumonia  d. Malaria 

Q.20 “I hope to paint the Bay of Naples.” Who said these words? 

Q.21 ‘Tell me as soon as you have finished.’ Who said these words to whom? 

Q.22 What was Behrman’s dream? 

 a. to paint scenery   b. to become a teacher 

 c. to become a doctor   d. to paint a masterpiece 

Q.23 Where did Behrman live? 

 a. on the to floor    b. on the second floor 

 c. on the ground floor   d. in the jungle 

Q.24 How old was Behrman? 



 a. He was past fifty   b. He was sixty years old. 

 c. He was past sixty   d. He was fifty five years old. 

Q.25 Who used the ladder in this chapter? 

 

  CHAPTER – 3 HAUNTED 

Q.26 Where was the haunted house? 

Q.27 Who is the writer of the chapter “Haunted’? 

Q.28 What kind of smell did come from the house? 

Q.29 Who declared that she could no longer live in so haunted a place? 

Q.30 What kind of sound came out from the house? 

Q.31 Where did the strange man go to complain? 

 a. Pastor  b. Mayor  c. Ghosts  d. None 

Q.32 “I hear music. Is someone having a party?” Who said these words to whom? 

 a. The strange man said to the Mayor. 

 b. The Mayor said to the strange man. 

 c. The strange man said to Pastor. 

 d. The Pastor said to the stranger. 

Q.33 What attracted the neighbours? 



 a. The delicious smell.    b. The laughing and talking. 

 c. Both a and b     c. None of these. 

Q.34 What was thinking of the villagers about the pastor? 

 a. He was a great man.    b. He was the head of the village. 

 c. He was considered a wise man  d. None of these 

Q.35 The Pastor went to the haunted house because- 

 a. His wife asked him to go.   b. The Mayor asked him to go. 

 c. He wanted to help the man.   d. He wanted to enjoy the party. 

Q.36 The man who bought the haunted house was angry with- 

 a. the ghosts     b. with the neighbours. 

 c. with the Mayor     d. He was angry at everyone. 

 

   GRAMMAR 

 Choose the correct article. 

Q.37 He is ________ engineer and works in a factory. 

 a. A   b. An   c. The  d. X 

Q.38 He met __ NCC officer and __ MLA. 

 a. A, An  b. An, An  c. The, A  d. X, A 



Q.39 Anil is __ tallest among all his friends. 

 a. An   b. The  c. A   d. X 

Q.40 I saw ______ one eyed man and _ deaf man. 

 a. an, a  b. a, an  c. a, x   d. a, a 

Q.41 _______ lunch given by Mr. Sharma was very delicious. 

 a. An   b. A   c. X   d. The  

Q.42 Pick out the nouns from the following sentences and tell their kinds. 

1. Democracy is a rule by the people, of the people and for the people. 

2. Our team won the test series against Australia.  

3. Childhood is the best period of human life. 

4. Yesterday I saw a lion in the jungle. 

5. Gold is a precious metal.  

Q.43 Tell the types of the following sentences. 

1. Never tell a lie.  

2. Ram’s father is a doctor. 

3. Hurrah! we have won the match. 

4. What a beautiful flower is this! 

5. What are you doing? 



6. Alas! His wife is no more. 

7. Please help me. 

 

  

  

                                                                       



  Class – 8th       Assignment NTSE Science  

Q.1 Why is polyester not suitable for summer wears? 

(a) Polyester crumples easily.  (b) Polyester does not absorb sweat. 

(c) It is very soft and thin   (d) It does not dry easily. 

Q.2 Polyester and wool fibres when mixed, make  

(a) polycot  (b) terrywool (c) cots wool (d) polyester 

Q.3 The first man-made fully synthetic fibre is 

(a) nylon  (b) polyester  (c) rayon  (d) cotton  

Q.4 The material used in making parachutes and ropes for rock climbing is 

(a) jute   (b) nylon  (c) coir  (d) rayon 

Q.5 The polymer used in making non -  stick cookwares is  

(a) rayon  (b) nylon  (c) Teflon  (d) polymers 

Q.6 Toothpaste tubes are made of plastic because 

(a) it can hold more amount of toothpaste 

 (b) it can be coloured in different colours  

(c) it is flexible and light 

 (d) it is biodegradable  

Q.7 Which of the following substances can be used to make the insulation of wires? 

(a) Plastic  (b) Rubber  (c) Wood  (d) Glass 

Q.8 Which of the following is a natural polymer? 

(a) Cellulose  (b) Teflon  (c) Nylon  (d) Terylene 

Q.9 The strength of a material to withstand a weight without breaking is 

(a) tensile strength  (b) flexibility (c) hardness  (d) metallic strength  

 



Q.10 Which of the following is a linear polymer? 

(a) Nylon  (b) Bakelite  (c) Melamine (d) Synthetic rubber 

Q.11 Thermoplastics are  

(a) linear polymers 

 (b) polymers that soften or melt on heating  

(c) molten polymers can be moulded in any shape  

 (d) all of the above. 

Q.12 Thermosetting polymers are  

(a) cross linked polymers     

(b) such that they do not melt on heating  

 (c) such that during heating it hardens irreversibly     

(d) all of the above. 

Q.13 A polymer which is commonly used as a packing material is  

(a) polythene  (b) bakelite  (c) PVC  (d) polypropylene. 

Q.14 PVC is used for making rain coats and seat covers because  

(a) it can be rolled into thin sheets like polythene 

 (b) it can be coated on a cloth base and is tougher than polythene 

(c) it has low melting point and is unreactive  

 (d) it has high melting point and is very reactive. 

Q.15 Which of the following is true? 

(a) Cellulose is made up of glucose units. 

 (b) Weaving and knitting are two processes to obtain plastics.  

 (c) Plastics get corroded easily. 

 (d) Plastics are not polymers. 

Q.16 The plastic which can not be recycled is 

(a) jute   (b) elastomer (c) petrochemicals (d)  bakelite 

 

 



Q.17 The plastics which do not remould again on heating are called 

(a) thermosetting plastics   (b) thermoplastics 

(c) polyester plastics   (d) polymer plastics 

Q.18 What are the physical properties associated with plastic materials? 

(a) Poor conductors of heat, easily moulded and stong 

(b) Do not corrode, low density and shiny 

 (c) Brittle, flexible and elastic 

 (d) Strong, transparent, high melting point  

Q.19 Cotton on burning gives the smell of burning paper because 

(a) cotton is obtained from plants   

(b) paper is also obtained from plants 

 (c) both cotton and paper are obtained from plants     

(d) paper is obtained from hair of sheep 

Q.20 When we burn wool why do we get the smell of burning of hair? 

(a) Wool is obtained from nylon 

 (b) Wool is obtained from cotton plants. 

 (c) Wool is obtained from jute plants. 

 (d) Wool is obtained from hair of sheep. 

Q.21 Which is a biodegradable substance? 

(a) Cotton cloth    (b) Thermosetting plastic   

(c) Thermoplastic     (d) PVC pipes 

Q.22 Non - stick Teflon coated cookwares are generally recommended to heart patients 

because  

(a) non - stick cookwares do not absorb water  

 (b) non - stick cookwares do not absorb oil  

(c) non - stick cookwares cook faster  

 (d) non - stick cook wares are biodegradable. 

 



Q.23 To Which of the following, 4R principle applies most? 

(a) Synthetic fibres  (b) Natural fibres   (c) Plastics   (d) Wool 

Q.24 Which is the strongest fibre amongst the following? 

(a) Rayon    (b) Nylon   (c) Acrylic  (d) Cotton 

Q.25 Which is an example of thermosetting polymer? 

(a) Polythene   (b) PVC   (c) Neoprene (d) Bakelite  

 

 



 

 

 

ASSIGNMENT 
Class – 8th           Subject : SCIECNE    
Max Marks:20         Time     : 1 Hour 
 

1. Watering the crops is called : 
a. Sowing   b. Monusing   c. Tilling   d. Irrigation  

2. Spirogyra is  
a. An algae   b. a Fungi  c. protozoa   d. bacteria  

3. Vaccine for small pox is discovered by 
a. Louis Pasteur  b. Alex Fleming    c. Edward Jenner   d. John Menial  

4. Amount of Nitrogen in the atmosphere is  
a. 58 %    b. 68 %      c.  78 %     d. 88 %  

5. Mushroom belong is to  
a. Algae     b. Virus     c. Fungi     d. None of these 

6. Scientist who discovered fermentation is  
a. Alexander Fleming   b. Louis Pasteur   c. John Mendal         d. Edward Jenner  

7. Amoeba belongs to  
a. Algae     b. fungi     c. Protozoa    d. Virus 

8. Rhizobium bacteria  
a. Help in digestion  b. help in Nitrogen fixation   c.  cause diseases   d. all of the above 

9. Maleria is caused by 
a. Protozoa    b. Virus   c. Algae     d. Bacteria  

10. Micro Organism are  
a. Unicellular     b. Multi cellular   c. both    d. none of these 

11. Name the groups in which microorganism are broadly classified. 
12. Name the type of micro organism that is smaller then bacteria. 
13. Write the name of a bacterium that help in the formation of curd. 
14. Write a use of yeast. 
15. What does yeast produce alluring respiration? 
16. What are pathogens? Write another name of pathogens.  
17. Defind food preservation. 
18. Write the name of any two antibiotics. 
19. Who discovered the vaccine for small pox. 
20. What is fermentation. 
21. Define refrigeration. 
22. What is vaccine? 
23. Name any two diseases caused by viruses. 
24. Name any three common plant diseases. 
25. Name a micro‐organism which help in nitrogen fixation. 
26. Name a disease caused by food poisoning. 
27. What is the difference refrigeration and freezing. 
28. What is decomposition? 
29. Name the two microbes that are involved in the process of decomposition. 
30. Name the first antibiotic discovered. 



 

 

            Assignment – 2 
1. Name some common metals. 
2. Name some common non‐metals. 
3. Give example of metalloids. 
4. Name the property due to which metal shine. 
5. Name two metal which are soft enough to be cut. 
6. Name the property due to which metal can be beaten into thin sheet is.  
7. Which non metal does conduct heat  & Electricity? 
8. Name the property due to which metal can be drawn into wire. 
9. Name the metal and non metal which occur in liquid state. 
10. Due to which property a bell rings? 
11. Generally non – metals are non lustrous. Name one non lustrous. 
12. State the property of non metals due to which phosphorus is kept in water. 
13. Why some metals displace other metals from their solution? 
14. Which metal is used for wrapping food items? 
15. Which metal is more reactive. Iron or Zinc? 
16. Which metal is less reactive. Copper or Zinc? 
17. Name one metal which does not react with dilute Hydrochloric acid. 
18. Whose oxides are basic in nature. Metal or Non Metal? 
19. Name two metals which do not react with Oxygen even at high temperature. 
20. Name two physical properties of metals. 
21. What happen when metals react with oxygen? 
22. What happen when magnesium is burnt in air. 
23. What happen when metals react with water? 
24. Why aluminum is used for wrapping of food items? 
25. Why metals are used in ringing bells? 
26. What are the difference between metals and non – metals? 
27. What happen when a copper vessel is exposed to most air for long? Also write the equation. 
28. What happens when a magnesium ribbon is heated in presence of air? 
29. How do metal and non metals react with water? 
30. With the help of equations, explain the reaction of non metals with oxygen.  



 

 

 

Class – 8th  (Home Work)        Subject : Hindi 
          

1. Hkkjr ds uhps dkSu&lk egklkxj gS\ fo”o esa fdrus egklkxj gSa\ 
2. fo”o dk lcls Å¡pk ioZr dkSu gSa\ 
3. lksguyky n~foosnh th dh vU; dforkvksa dk ladyu rS;kj dhft,A 
4. ^ekr`Hkwfe* dfork esa dbZ egkiq:’kksa dk ukeksYys[k gqvk gSA buds tUe & LFkku dk uke Kkr dhft,A lkFk gh irk 

dhft, fd orZeku eas ;s fdl jkT; esa fLFkr gSa\ 
5. Lksguyky n~foosnh dk thou ifjp; fyf[k,A 
6. ^ekr`Hkwfe* dfork ds dfo dk D;k uke gS\ 
7. ^vejkb;k¡* “kCn dk D;k vFkZ gSa\ 
8. xhrk dk mins”k dkSu&ls LFkku ij fn;k x;k\ 
9. Mk¡0 jktsUnz izlkn dk yksdfiz; uke miuke ^ns”kjRu* FkkA cky xaxk/kj fryd dk miuke ^yksdekU;*A vius fe=ksa 

ds lkFk feydj Hkkjr ds izeq[k Lok/khurk lsukfu;ksa ds miukeksa dh lwph rS;kj dhft,A 
10. MkW0 jktsUnz izlkn ls ysdj vcrd ds lHkh jk’Vªifr;ksa dk usV ls fp= fudkydj viuh ifj;kstuk&iqfLrdk esa 

fpidkb, vkSj mudk laf{kIr thou&ifjp; fyf[k,A 
11. Ekgknsoh oekZ dh izeq[k d`fr;k¡ fyf[k,A 
12. Ekgknsoh oekZ dk thou&ifjp; fyf[k,aA 
13.  egknsoh oekZ dks jktsanz ckcw ds fudV laidZ esa vkus dk volj dc feyk\ 
14. jktsUnz ckcw dh fdruh ikSf=;k¡ Fkh\ 
15. jktsUnz ckcw us efgyk fon~;kihB Hkou dk f”kykU;kl dgk¡ fd;kA 

 
 
     O;kdj.k 

1- vkWuykbu vkSj vkWQykbu i<+kbZ esa varj Li’V dhft,A vkWuykbu i<+kbZ ds nkSjku vkids VhplZ vkSj Qksu dh D;k 
Hkwfedk jgh Li’V dhft,A 

2- vkidk ialnhnk Hkkstu@ idoku D;k gS\ ;g idoku vkidks D;ksa ilan gS\ lkFk gh mldks cukus dh iwjh fof/k 
ifjokj esa ppkZ djds fyf[k,A 

3- nsoukxjh fyfi dk fodkl fdl izkphu fyfi ls gqvk\ 
4- Hkk’kk ds pkj dkS”ky dkSu&ls ekus x, gSa\ 
5- fn, x, lkfgR; mfpr dkWye & 

¼ xhr] dgkuh] nksgk] pkSikbZ] miU;kl] i=] Nan] thouh] LkaLej.k] dfork ½ 
xn~; lkfgR; ----------------------------------------------------------------------------------- 
in~; lkfgR; ----------------------------------------------------------------------------------- 

6- o.kZ &foPNsn dhft, &  d½ lEeku   [k½ d`I;k  x½ f=”kqy 

7- ^j* ds fofHkUu :iksa dk iz;ksx djrs gq, rhu&rhu “kCn fy[kksA 
8- n~foRo O;atu fdls dgrs gSa\ mnkgj.k Hkh fy[kksA 
9- var%LFk O;atu dkSu&ls gSa\ 
10- Hkkjrh; lafo/kku esa ekU;rk izkIr Hkk’kkvksa ds uke fyf[k,A 
11- fgUnh Hkk’kk ds dqN egRoiw.kZ rF; fyf[k,A 
12- fgUnh dh izeq[k miHkk’kk,a fy[kksA 
13- o.kksZ dk mPpkj.k eq[k ds ftl Hkkx ls fd;k tkrk gS] mlds uke fy[kksaA 



 

 

14- vYiizk.k vkSj egkizk.k esa varj Li’V dhft,A 
15- okD;ka”kksa ds fy, oxZ&igsyh ls ,d “kCn pqudj fy[kksaA 

d½ nwljksa dk midkj djus okykA 
[k½ ftldk var u gksA 
x½ iqjk.kksa ls laca/k j[kus okykA 
?k½ tks izfr lIrkg gksrk gksA 
M½ ftldh dher u vkadh tk ldsA 
p½ tks “kkd&lCth [kkrk gksA 
N½ “kkL=ksa dk KkrkA 
t½ cM+k HkkbZA 
>½ tks lc txg gksA 
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class 8                  subject – maths 

                  Chapter – 1 ( Rational numbers ) Assignment – 1 

 

Q.1 Using appropriate properties , find – 

  1.     െ
ଶ

ଷ	
	ൈ 	

ଷ

ହ
൅	

ହ

ଶ
െ

ଷ

ହ
ൈ

ଵ

଺
 

  2. 				
ଶ

ହ
ൈ ቀെ

ଷ

଻
ቁ െ

ଵ

଺
ൈ

ଷ

ଶ
൅

ଵ

ଵସ
ൈ

ଶ

ହ
 

 

Q.2 Write the additive inverse of each of the following‐ 

  1. 
ଶ

଼
    2. െ

ହ

ଽ
     3. 

ି଺

ିହ
      4. 

ଶ

ିଽ
      5. 

ଵଽ

ି଺
 

 

Q.3 Verify that – (‐x) = x for 

  1. x = 
ଵଵ

ଵହ
    2. x = െ

ଵଷ

ଵ଻
 

 

Q.4 Find the multiplicative inverse of the following‐ 

  1. ‐13   2. െ
ଵଷ

ଵଽ
    3. െ

ହ

଼
ൈ െ

ଷ

଻
    4. െ1	 ൈ	

ିଶ

ହ
    5. ‐1 

 

Q.5 Multiply 
૟

૚૜
 by the reciprocal of   

ିૠ

૚૟
. 

 

Q.6 Is 
ૡ

ૢ
 the multiplicative inverse of  ‐ 1

૚

ૡ
? Why or why not? 

 

Q.7 Represent these numbers on the number line :‐   1. 
଻

ସ
    2. 

ିହ

଺
 

Q.8 Write five rational numbers which are smaller than 2. 



Q.9 Find ten rational numbers between െ
૛

૞
	ࢊ࢔ࢇ	

૚

૛
. 

Q.10 Write five rational numbers greater than ‐2. 

           

      NTSE BASED QUESTIONS 

Q.1 The sum of the additive inverse and multiplicative inverse of 2 is‐ 

  a. 
ଷ

ଶ
    b. െ

ଷ

ଶ
   c. 

ଵ

ଶ
    d. െ

ଵ

ଶ
 

Q.2 Additive inverse of 
૜

ି૝
 is – 

  a. 
ଷ

ସ
    b. 

ଵ

ସ
    c. 3    d. 0 

Q.3 The standard form of 
૚ૢ૛

ି૚૟ૡ
   is :‐ 

  a. 
ିଶ

ଷ
    b. 

ି଼

଻
    c. 

ିଵ

଻
    d. 

ି଺

଻
 

Q.4 The number which is subtracted from 
ૠ

૚૜
 to get 

ି૜

ૠ
 is :‐ 

  a. 
଼଼

ଽଵ
    b. 

ଵ

ଽଵ
    c. 

ଶ଴

ଽଵ
    d. 

ଽ଼

ଽଵ
 

Q.5 The additive inverse of 
ࢇି

࢈
 is :‐ 

  a. 
௔

௕
    b. 

௕

௔
    c. 

ି௕

௔
    d. 

ି௔

௕
 

Q.6 Standard form of 
ି૛૝

૜૟
 is a rational number with denominator. 

  a. 3    b. 4    c. 12    d. 2 

Q.7 Which of the following statement is false? 

  a. Every fraction is a rational number. 

  b. Every rational number is a fraction. 

  c. Every integer is a rational number. 

  d. All of these. 



Q.8 A rational number between 
૚

૝
	ࢊ࢔ࢇ

૚

૜
࢙࢏	 ∶‐ 

  a. 
଻

ଶସ
    b. 0.29    c. 

ଵଷ

ସ଼
      d. all of these 

Q.9 The value of x for which the two rational numbers 
૜

ૠ
	ࢊ࢔ࢇ	

࢞

૝૛
 are 

equivalent:‐ 

  a. 18    b. 15      c. 12      d. 10 

Q.10 Multiplicative inverse of 0 is :‐ 

  a. െ1    b. 0      c. does not exist    d. 1 

Q.11   0.75 when represented as rational number is:‐ 

  a. 
଻ହ

ଽଽ
    b. 

଻ହ

ଽ଴
      c. 

ଷ

ସ
      d. 

ହ

ସ
 

Q.12 The value of expression 
૛

૜
൅

૞

૚૚
൅

ି૚

૜
൅

ି૜

૚૚
 is equal to :‐ 

  a. 
ଵ

ଷଷ
    b. 

ଶ

ଷଷ
      c. 

ଵ଴

ଷଷ
      d. 

ଵ଻

ଷଷ
 

Q.13 Which of the following illustrates the inverse property of addition? 

  a. 3 + ( ‐3) = 0      b. 3 – (‐3) = 0     

  c. 3+0 = 3      d. 3 ‐ 0 = 3 

Q.14 The difference between the largest and the smallest of the rationals 

   
૞

ૡ
  , 

ૠ

૚૛	
	 ,
૚

૜
		 ,

૛

૞
		 is :‐ 

  a. 
ଵ

ସ
      b. 

ିହ

ଶସ
      c. 

଻

ଶସ
      d. 

ଵଷ

ଶଵ
 

Q.15 What number should be added to 
ૠ

૚૛
 to get 

૝

૚૞
? 

  a. 
ିଵଽ

଺଴
     b. 

ିଵଵ

ଷ଴
     c. 

ହଵ

଺଴
      d. 

ଵ

ଶ଴
 

Q.16 Which of the following rational numbers is the smallest? 

 
ି૞

૚૟
 , 
ି૜

૝
	 ,
ି૚૜

૛૝
	ࢊ࢔ࢇ		

ૠ

ି૚૛
 

  a. 
ିହ

ଵ଺
    b. 

ିଷ

ସ
      c. 

ିଵଷ

ଶସ
      d. 

ି଻

ଵଶ
 



Q.17 What number should be subtracted from 
ି૜

૞
 to get ‐2 ? 

  a. 
ି଻

ହ
      b. 

ିଵଷ

ହ
     c. 

ଵଷ

ହ
																													݀.			

଻

ହ
 

Q.18 Name the law of multiplication illustrated by the statement,  

 
ି૚૞

ૡ
ൈ	

ି૚૛

ૠ
	ൌ 		

ି૚૛

ૠ
	ൈ 	

ି૚૞

ૡ
 

  a. Associative law      b. Closure law 

  c. Commutative law    d. None of these 

Q.19 Which of the following rational numbers is in its standard form? 

  a. 
ିଵଶ

ଶ଺
     b. 

ିସଽ

ଽଵ
     c. 

ିଽ଴

ଵ଺
      d. 

ିସ

ଵହ
 

Q.20 Multiply 
ૠ

ૡ
 by the reciprocal of 

ି૛૜

ૡ૞
 

  a. 
ିଵ଺ଵ

ଵ଼ସ
    b. ‐3 

ସଷ

ଵ଼ସ
    c. 

ିଷଽ

ହ଺
      d. 

ିଵ଺ଵ

ହ଼଴
 

Q.21 
ି૚

૝
 is a rational number between :‐ 

  a. 0 and 
ଵ

ସ
    b. ‐1 and 0    c. 1 and 2    d. ‐2 and ‐1 

Q.22 A rational number equivalent to 
ିૠ

ି૝
 is:‐ 

  a. 
ିସଶ

ଶସ
     b. 

ିସଽ

ଶ଼
     c. 

ଷହ

ଶ଴
      d. none of these 

Q.23 The area of a rectangle is 45 
૞

૚૟
If its length is 7	૛.࢓ࢉ

૚

૝
cm , then find its 

  breadth. 

  a. 6
ଵ

ସ
ܿ݉    b. 4

ଵ

଺
cm    c. 328

ଷଷ

଺ସ
cm    d. 38

ଵ

଺
cm 

Q.24 The sum of the additive inverse and multiplicative inverse of 5 is :‐ 

  a. 
ଶସ

ହ
      b. െ

ଶସ

ହ
    c. 

ଶଵ

ହ
      d. െ

ଶଵ

ହ
 

Q.25 Divide the sum of 
૝

૞	
	ࢊ࢔ࢇ	

ૢ

૚૞
 by their difference. 

  a. 9      b. 7      c. 8      d. 6 



 

 

 

Class – 8th  (Assignment)        Subject : S.St 
          

Choose the correct option –  
1. Who created the first map of India? 

a. The Nawabs   b. Dalhouse     c. James Mill    d. None of the above 
2. Where did the blue rebellion take place –  

a. Bihar     b. Bengal    c. Rajasthan    d. Delhi 
3. When was permanent settlement introduced in India? 

a. 1756    b. 1796     c. 1732      d. 1793 
4. Who introduced permanent settlement in Bengal? 

a. Lord Dalhouse   b. Lord Wellsely   c. Lord William    d. Lord Cornwallis  
5. When was Battle of Plassey fought  

a. 1723    b. 1796     c. 1757      d. 1745 
6. Who was the last powerful emperor of the Mughal.  

a. Akbar     b. Jahangir    c. Shahjahan     d. Aurangzeh  
7. Constitution puts a limit on. 

a. Misuse of power  b. Violation    c. both of these   d. None of these 
8. The lowest level of governance is. 

a. Centre     b. State     c. Village     d. None of these  
9. Who was Hyder Ali 

a. Ruler of Bengal  b. Ruler of Delhi   c. Ruler of Lucknow   d. Ruler of Mysore  
10. Past in history is referred as –  

a. After     b. Before    c. Present     d. None of these 
11. Why is it important to have dates or time framer while writing history. 
12. Why did practice of survey become important under the British.  
13. Describe the doctrine of Lapes. 
14. What were the cause of the rise of the British in India. 
15. Write “The Fundamental Duties” in the Indian Constitution.    
16. What is malate by colnisation? Answer in detail. 
17. How did the British preserve the reports and documents. 
18. Who was Mir Qasim? What was his role in the Battle of Buxar (1764 ). 
19. Describe the policy of paramountcy. 
20. Constitution guarantees fundamental lights.  
21. Why is constitution important in a democracy? 
22. List the fundamental duties to be followed by India. 
23. What is secularism? 
24. How is secularism practiced in India. 
25. Why should religion be separated from state. 
26. Indian secularism is different from US secularism.  
27. What do you understand by separation of power of the government. 
28. What is a constitution? 
29. Why do we need a constitution?  
30. What is separation of powers.  
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